
1 Find the missing numbers:

3  +           =  10

       +  6  =  10

9  +           =  20

       +  14  =  20

3  +  5  +           =  20                       5 marks

3 marks

4 marks

3 marks
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2 Solve the additions:

6  +  4  +  8  = 

4  +  3  +  4  =  

2  +  3  +  12  =  

Year 2 Autumn Maths Block Assessments:
More Addition and Subtraction (A)

3 Find the missing numbers:

62  +  4  =   

34  +          =  39

        +  3  =  57

41  +           +  5  =  50
                   

4 Add crossing 10s:

38  +  3  =    

66  +  6  =    

27  +  5  =    



3 marks

2 marks
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5 Subtract crossing 10s

42  ‒  3  =   

51  ‒  4  =   

73  ‒  6  =    

There are 48 passengers on this train.  At the station 5 more 
get on. How many on the train now?

There are 89 passengers on this train.  At the station 4 get 
off. How many on the train now?

   

6

 Total /20 = 


